
Time: 10 Minutes Paper Math 6 (T-1) Total Marks: 10

1st Month, 2nd Week, 4th  Day Unit # 1: Factors and Multiples

Q.1. Choose the correct options.   (1 x 3 = 3)   ŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,XXXX
(i) What is the smallest 3-digit number divisible by 16, 24 and 36?

ÐÐÐÐ„„„„HHHHYYYYnnnn???? 36 ZZZZzzzzgggg 24ÔÔÔÔ16 zzzz{{{{ggggLLLLÐÐÐÐggggNNNN****&&&&yyyyÏÏÏÏ°°°°ŠŠŠŠHHHHìììì����
(a) 169 (b) 160 (c) 144 (d) 156

(ii)  The product of LCM and HCF of 16, 24 and 48 is:

ÆÆÆÆ¬¬¬¬ŠŠŠŠZZZZWWWWZZZZzzzzggggffffzzzzZZZZDDDDssssZZZZ÷÷÷÷»»»»qqqqÝÝÝÝ¢¢¢¢[[[[ìììì:::: 48 ZZZZzzzzgggg 24ÔÔÔÔ16
(a) 768 (b) 668 (c) 886 (d) 868

(iii) HCF of 15, 20 and 90 is: »»»»ffffzzzzZZZZDDDDssssZZZZ÷÷÷÷ìììì:::: 90 ZZZZzzzzgggg 20ÔÔÔÔ15
(a) 15 (b) 30 (c) 90 (d) 120

Q.2. A university bus arrives near UET Lahore in every 280

seconds and an orange train arrives in every 360 seconds.

How often do train and bus arrive at the same time?

²²²²~~~~WWWWCCCC 360 ²²²²~~~~WWWWCCCCììììZZZZzzzzggggZZZZzzzzggggffffRRRR,,,,++++CCCCÙÙÙÙ 280 ----ZZZZ~~~~KKKKÑÑÑÑƒƒƒƒggggÆÆÆÆŒŒŒŒÛÛÛÛdddd$$$$----EEEEgggg;;;;ÅÅÅÅ''''CCCCÙÙÙÙ

(1×2=2) ììììXXXXRRRR,,,,++++ZZZZzzzzgggg''''ZZZZqqqq----„„„„zzzz‰‰‰‰ÜÜÜÜ~~~~XXXX!!!!****ggggWWWWDDDD÷÷÷÷????

Q.3. I am thinking of a number that is divisible by 29, 58 and

116. What is the smallest possible number that I could be

thinking of? (1×2=2)

ÐÐÐÐ„„„„HHHHYYYYYYYYììììXXXXƒƒƒƒÐÐÐÐggggNNNN**** 116 ZZZZzzzzgggg 58ÔÔÔÔ29 ~~~~ZZZZqqqq----ZZZZ,,,,°°°°ŠŠŠŠÆÆÆÆ!!!!****gggg}}}}~~~~ÎÎÎÎaaaagggg;;;;ƒƒƒƒVVVV&&&&

ÂÂÂÂ°°°°ŠŠŠŠHHHHììììTTTTÆÆÆÆ!!!!****gggg}}}}~~~~ÎÎÎÎaaaaYYYYƒƒƒƒVVVV????

Q.4. Find the smallest 3-digit number divisible by 16, 24 and 30

respectively. (1×3=3)

ÐÐÐÐ„„„„HHHHYYYYnnnnXXXX 30 ZZZZzzzzgggg 24ÔÔÔÔ16 yyyyÏÏÏÏ°°°°ŠŠŠŠ¥¥¥¥xxxx™™™™,,,,����!!!!****nnnnKKKKMMMM 3 ƒƒƒƒÐÐÐÐggggNNNN****
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